	U.S. DEPARTMENT OF E			Voucher Ni		Fiscal Year	Date		
	IMPACT AID PROC	GRAM			3 2020-1	2020	01/13/2020		
	WASHINGTON, D.C. 20	202-6244		Total ADA 416.13	Total Membershij 441	Application Number 36-MT-2020-2			
	R FOR IMPACT AID SEC	-	-		ribution Rate & Type	Total Current Expe			
	of the Elementary and Se	condary Educ	ation Act)		1/2 National Average	\$8,213,000.00			
						Grantee DUNS Number:	19-301-2960		
Rock	y Boy Elementa	ry School	District	#871		Payee DUNS Number:	19-301-2960		
	tion: Mr. Voyd S		District	#01-5		PR/Award#: S04	PR/Award#: S041B-2020-2911		
	ission Taylor Ro					Pay Type: Initial			
	Elder, MT 59521								
legotiated Ratio	Attendance Ratio = Pric		Tior Vear Mer	nbershin	LOT% = T	County: Hill			
0.94361			101-1eai mei / 4	•			Membership% 91.61%		
	<u></u>								
	ASIC SUPPORT PAYME			14/6) ·			ent Paid: 90.0000%		
Category	Membership 0	ADA	Weight	WSU	Max BSP	Full LOT	Prorated LO1		
(A) (i) (A) (ii)	0	0.00 0.00	1.00 1.00	0.00	\$0.00	\$0.00	\$0.00		
(A) (ii) (B)	0	0.00	1.00	0.00	\$0.00	\$0.00	\$0.00		
(B) (C)	404	381.22	1.00	0.00 476.53	\$0.00 \$2,987,128,31	\$0.00	\$0.00		
(D) (i)	-0-	0.00	0.20	478.53	\$2,987,128.31 \$0.00	\$2,987,128.31 \$0.00	\$2,688,415.48		
	0	0.00	0.20	0.00		• • • • •	\$0.00		
D) (ii) E)	0	0.00	0.10	0.00	\$0.00	\$0.00	\$0.00		
(E) (F)	0	0.00	0.05	0.00	\$0.00	\$0.00	\$0.00		
-	8	0.00	0.05	0.00	\$0.00	\$0.00	\$0.00		
G) (i) G) (ii)	0	0.00	0.05	0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00		
003(b) Total	412	381.22	0.05	476.53	\$2,987,128.31	\$2,987,128.31	\$0.00 \$2,688,415.48		
A) (ii)	0	0.00	1.00	0.00	<i>42,301,120.01</i>	\$2,307,120.31			
(B)	0	0.00	1.00	0.00			\$0.00		
(C)	52	49.07	1.00	49.07			\$0.00 \$51,523.50		
(D) (i)	0	0.00	0.50	0.00			\$0.00		
(D) (ii)	0	0.00	0.50	0.00			\$0.00		
003(d) Total	52			49.07	CWD Rate Paid: \$1,0	50.00/04/51	\$51,523.50		
003(d) Maximum:							I) Reduction		
7003(e) Hold Harmi	ess Increase				·· ·		\$0.00		
• • • •	mpacted Local Educationa	I Agency:					φυ.υ.		
7005(d)(2) Late App	licant 10% Payment Redu	ction					\$0.00		
7007(a) Constructio	n - Indian Lands								
7007(a) Constructio	n - Uniformed Services						\$0.00		
Other(1)							\$0.00		
Other(2)							\$0.00		
Other(3)							\$0.00		
otal Payments Sum	mary						\$2,739,938.98		
	iis Fiscal Year						\$0.00		
nor Payments for th							\$0.00		
verpayment							CO 700 000 00		
······································	Current Payment this Fisc	al Year					\$2,739,938.98		
verpayment		al Year					\$2,739,938.98		

•

Impact Aid Estimates-FY 20 (2019-20SY)

Elementary:7003(b) [52 identified CWD; 352 reside on Indian Lands; 8 have parents
employed on federal lands =412 federally connected children]

- 1. 412 X .94361=388.76 (ADA)
- 2. 388.76 X 1.25=485.95 (WSU)
- 3. 485.95 X \$6,035 [LCR] =\$2,932,708.25 (maximum BSP)
- 4. \$2,932,708.25 X 50% LOT=\$1,466,354.13

X 60% LOT=\$1,759,624.95

X 65% LOT=\$1,906,260.36

X 70% LOT=\$2,052,895.78

X 75% LOT=\$2,199,531.19

X 80% LOT=\$2,346,166.60

- X 85% LOT=\$2,492,802.01
- X 90% LOT=\$2,639,437.43

7003(d) [E-mail exchange w/Melissa Torchon on 2-21-19 noted that we should use FY19 figures [\$1,050] for a CWD payment amount, because FY20 rates have not been set yet; noted these are appropriate figures for budgeting]

- 1. 52 X .94361=49.07 (ADA)
- 2. 49.07 X 1=49.07 (WSU)
- 3. 49.07 X \$1,050 [CWD Rate] =\$51,523.50

				Vauahaa Mu		Fiscal Year		
	U.S. DEPARTMENT OF EL ELEMENTARY AND SEC	UCATION		Voucher Numbers 376927 2020-1		Date		
	IMPACT AID PROGR	o or an or a		the state of the second se	2020 01/13/2020			
	WASHINGTON, D.C. 202	202-6244		Total ADA 120.78	Total Membership 128	Application Numb 36-MT-2020-3		
	R FOR IMPACT AID SECTI				cal Contribution Rate & Type Total Current Expenditures			
(TITLE VII o	of the Elementary and Sec	ondary Edu	cation Act)		/2 National Average	\$1,919,000.00		
						Grantee DUNS Number:	19-301-2960	
Rock	y Boy High Scho	ol Distri	ct #87-l			Payee DUNS Number:	19-301-2960	
	tion: Mr. Voyd S					PR/Award#: S04	1B-2020-5916	
	ission Taylor Roa					Pay Type: Initial		
	Elder, MT 59521							
Bux	-IUCI, WIT 55521							
Man Hala Datio		N				County: Hill		
Negotiated Ratio	Attendance Ratio = Prior	-Year ADA / I			1 (Second 1997)		Membership%	
0.94361	=		/ 1	36	100.00% = 48	3.16% +	97.66%	
	ASIC SUPPORT PAYMEN	Т				LOT Perce	ent Paid: 90.0000%	
Category	Membership	ADA	Weight	WSU	Max BSP	Full LOT	Prorated LOT	
(A) (i)	0	0.00	1.00	0.00	\$0.00	\$0.00	\$0.00	
(A) (ii)	0	0.00	1.00	0.00	\$0.00	\$0.00	\$0.00	
(B)	0	0.00	1.00	0.00	\$0.00	\$0.00	\$0.00	
(C)	125	117.95	1.25	147.44	\$924,227.64	\$924,227.64	\$831,804.88	
(D) (i)	0	0.00	0.20	0.00	\$0.00	\$0.00	\$0.00	
(D) (ii)	0	0.00	0.20	0.00	\$0.00	\$0.00	\$0.00	
(E)	0	0.00	0.10	0.00	\$0.00	\$0.00	\$0.00	
(F)	0	0.00	0.05	0.00	\$0.00	\$0.00	\$0.00	
(G) (i)	3	0.00	0.05	0.00	\$0.00	\$0.00	\$0.00	
(G) (ii)	0	0.00	0.05	0.00	\$0.00	\$0.00	\$0.00	
7003(b) Total	128	117.95		147.44	\$924,227.64	\$924,227.64	\$831,804.88	
(A) (ii)	0	0.00	1.00	0.00			\$0.00	
(B)	0	0.00	1.00	0.00			\$0.00	
(C)	20	18.87	1.00	18.87			\$19,813.50	
(D) (i)	0	0.00	0.50	0.00			\$0.00	
(D) (ii)	0	0.00	0.50	0.00			\$0.00	
7003(d) Total	20			18.87	CWD Rate Paid: \$1,050		\$19,813.50	
7003(d) Maximum:						7003(0	I) Reduction	
7003(e) Hold Harmle	ess Increase						\$0.00	
7003(b)(2) Heavily Ir	mpacted Local Educational	Agency:						
	licant 10% Payment Reduc	tion					\$0.00	
7007(a) Constructio								
	n - Uniformed Services						\$0.00	
Other(1)							\$0.00	
Other(2)							\$0.00	
Other(3)							\$0.00	
Total Payments Sum							\$851,618.38	
Prior Payments for th	is Fiscal Year						\$0.00	
Overpayment	Current Deverant II.	Veec					\$0.00	
	Current Payment this Fiscal	rear					\$851,618.38	
Deductions for Prior (overpayments .						\$0.00	
Amount of Payment to	Applicant						\$851,618.38	
and a set of the set o							woo1,010.00	

High School: 7003(b) [20 identified CWD; 105 reside on Indian Lands; 3 have parents employed on federal land =128 federally connected children]

- 1. 128 X .94361=120.78 (ADA)
- 2. 120.78 X 1.25=150.98 (WSU)
- 3. 150.98 X \$<mark>6,035</mark> [LCR] =\$911,164.30 (maximum BSP)
- 4. \$911,164.30 X 50% LOT=\$455,582.15

X 60% LOT=\$546,698.58

X 65% LOT=\$592,256.80

- X 70% LOT=\$637,815.01
- X 75% LOT=\$683,373.23
- X 80% LOT=\$728,931.44
- X 85% LOT=\$774,489.66
- X 90% LOT=\$820,047.87

7003(d) [E-mail exchange w/Melissa Torchon on 2-21-19 noted that we should use FY19 figures [\$1,050] for a CWD payment amount, because FY20 rates have not been set yet; noted these are appropriate figures for budgeting]

- 1. 20 X .94361=18.87 (ADA)
- 2. 18.87 X 1=18.87 (WSU)
- 3. 18.87 X \$1,050 [CWD Rate] =\$19,813.50